Sumy =

0b11iczHumus

0,24

1,16
0,23

12,89

0,13

5,32
0,15

0,49
0,16

6,58
0,14

4,74
0,17

5,33
0,19

1,91
0,20

1,05
0,21

10,69

0,16

2,09
0,17

1,63
0,17

4,71
0,15

5,60
0,14

7,14
0,18

3,44
0,13

0,91
0,20

0,52
0,18

1,80
0,21

0,60
0,20

0,41
0,20

3,15
0,18

9,27
0,16

1,42
0,15

HUMUS ISTNIEJACY[m3] =

strona 2

0,00

0,00 0,27
0,00 2,29
0,00 0,73
0,00 0,07
0,00 0,99
0,00 0,74
0,00 0,97
0,00 0,38
0,00 0,22
0,00 2,00
0,00 0,35
0,00 0,28
0,00 0,75
0,00 0,80
0,00 1,16
0,00 0,54
0,00 0,15
0,00 0,10
0,00 a,35
0,00 0,12
0,00 0,08
0,00 a,60
0,00 1,57
0,00 0,22
PROJEKTOWANY [m3] =

=
P,



